24.

31.3.2016-b yaw® pyeiedr em efwrumfluer eomu wHML HLL
SEE (S GU(HLOTM) © ' '

ETLILD LoHMILD ‘r_r;L'.l'__ SENES,

T S §

SIDICUDS FIDLIGTLD 6,500 Qurgs erub 36,750
aupTEsL_6r GUITEG eTpH g 1,700 sy@ 1,250
uTTESLgussTar REIEEH 3,000 semernug: ’ 500
| eSlembLgid 3,800 wupue cugeEET 200
8 sTUSL B @eremod ‘ Sigl QUTL Gn& 3,600
(oS 0& Qi) : 550 :

Qurgeumes Q&eayser 2,750 pzeS® AnmHe

SlenL_g& eoruibd 3,000

‘Ga\iomenid 1,209

apSaLd WSmém eul_iq ' 2,000

auniid) sLei Sgmer eul g (Qeugss 1,300

GCouanrig.wig) '

ﬁa;g’évrrufo 22,500

45,300 45,300

Csuwraisdnarar Ggrens T 1,000. 1.8.2016 oyeim euhidl siem

. Bbgrer eully QEssuulLg. uged ufle QeleghsTear BT

31.07.2016. eQwnurysHa(pHg SamLé@Eb ormugder cuflenuwid sremrs.

Explain the powers of Central Board of Direct Taxes.

S Crry. eufl yaarmugSlen <idasryrigamer efleur.
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Time : Three hours

10.

11.

12.

SECTION A — (10 x 2 = 20 marks)
Answer any TEN questions.
Define “Person”. |
“BU’” euedywim.
What is meant by Assessment year?
WA G e R eTemmTed eTetmen?
What do you mean by Provident Fund?
Gape Fld Lpidl HellT sifleuert wireneu?

Define Perquisites.

Goergmub - euaumi-

State the rules for calculation of House Rent Allowance.

ol (B aunens L. sarsd Heusharear efsmar sams.
What is Municipal Rental Value?

BEITL_E eUTL_ang &IL| TenDTed eTeumen?

What do you understand by Pre-acquisition period?
AUMRIGUSHE (el 2_aTer sTeid LDl Bl SiHleug) erenen?
What is business? .

cuenflsib eremLig) wimg)?

What is meant by Profession?

Qgmifle erevmLiana wimeneu?

What is Permanent Account Number?

FlybST SRTEE Tt CTETpTe) 6reven?

What is meant by Self Assessment?

SW wHUSE erenmed creman? '

Who is Assessing Officer?

‘ﬁ@ﬂﬁl'_@ Sifarf eremuaui wimri?

Maximum : 75 marks

Y(LPQH X\ Income Tox dowr 2 Prackice -3

/
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13.

14.

15.

SECTION B — (5 x 5 = 25 marks)
Answer any FIVE questions.

X came to India for the first time from U.K. On 30tk June, 2009.
He stayed in India for 3 years and left for Japan on 1%t July 2012.

- He returned to India on 1%t April 2013, and remained in India till

31st July 2015 when he went back to U.K. He again came to
India taking up an employment with an.British concern, on
21st January 2016.What is his residential status for the previous
year ended 31t March 2016?

X eremucuit @udleonpdel;hg e wpampwns gOar 30, 2009 e

@iduneilnE eupens URpaTT. Sieui @bSuireiier 3 aimLhisdr @mbs

9@ gOme 1, 2012 ey guiLmer Qeammi. e gLigd 1, 2013
<y @pdHurelpE Hmbdwet, gOme 31, 2015 @udarsdne
S Caaweyd aueniy @rHwurelledr srem @HHSTT. Sfeui. BamHID
seeufl 21, 2016-6>- 19 _1g i Hyeuarsdler Geuened LIMTLILIGHETS
@BHUT uBFMLBSTT. phms par@h @ige wrrd 31, 2016
Sl eumanLw Gl fleno Hlavevenuwis srams. ‘

Define Assessee.'Explain the classes of assessees.

afleflflup@fuer - cuamiug. aufleddindpegiuafler eumassmen
efeurl.

- Mr. Kannan retired on 30.11.15 from a coal mine after putting a
service of 28 years and 10 months. At the time of retirement he '

was getting a salary of ¥ 16,000 p.m. and he use to get an
increment of ¥ 500 p.m. on 1%t April every year. His D.A. was
¥ 2,000 p.m. Gratuity received ¥ 3,40,000. Find out his taxable
gratuity, if he is covered under Gratuity Act, 1972.

. samamen arenLieu, em Hlassil stissid 28 gar@adr LHHID
10 wrgmser uemflyfipg 30.11.2015 wemy veflulimhs ey
Qupor. uefl guia; AupbAuUTEE wrg sbuerd T 16,000 QDS
QAsramyGHSTT wHnID @adaunm gamED gugd 1-b Gsd T 500
(LTS eNI&EE) souer 2_witey QupaTT. SjumaL W SisedllaaLl Lig.
gD gaméE < 2,000 @y@b. umfsQsramLwrs T 3,40,000
Quipmni. seui LafllEareaL s s b 1972-ar &) umd L F5Hd

SeumaLw uaflsQsrassrear auflemws sreams.
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Sm. B aamueuir Qsmédl-We oiL(F Qersg magdmsdoni. Gz
ey safl saflurs s S@@Esmer Qaram g wHmb QarsHer
sacudse G QsTHEsrIuDeTeng).

@ 1: demss Guuimly oG 2 : s S -3 : Qamhg

B&ITLS eum_eng oLy
Blwmuworer eum_ans ALy

eSlwmmyid
3
1,20,000 eu(mL_1b
1,32,000 au(mLtb

Blevauiras eurL_ems - ‘ 1,08,000 eumL1b
QUTL_ 605 ' 3,500 wrgbd
QBTEUTL & euri_ams PG LOMSEISET
LI(LSILITITLIL | ' . "10,000
sTSE ' 2,000
Qesg) uNThIGUSDE S . ,_

QuippsDHaETeT euL ig 96,000
B&yT_A euflsar 14,400
&L WPRESLILL L HT6T ‘ © 1.11.1998 °

eI & QengHefl(hHSI QU(BLD UHLLTMSMSE SHTaTs.

23. The following is the Profit and Loss Account of a merchant for
the year ending 31t March 2016.
: T T
To Office Salary 6,500 By Gross Profit - 36,750
To Bad Debts written off 1,700 By Commission 1,250
To Provision for Bad Debts 3,000 By Discounts 500
To Advertisement 3,800 By Sundry Receipts 200 .
To Fire Insurance Premium By Rent of Building 3,600
(House Property) 550
To General Expenses . 2,750 By Profit on sale of
Investments 3,000
To Depreciation 1,200
To Interest on Capital 2,000
To Interest on Bank Loan
(due) 1,300
To Net Profit 22,500
45,300 45,300

Compute the taxable profits from business. The amount of

depreciation is ¥ 1,000. Interest on Bank Loan was paid on

1.8.2016. Due date of filihg of return is 31.07.2016.
7 60511/BYAS5C



(2) Qupms Qsrem_ Gumared T 15,000

(esr) GurEGYRHMSESTaT sOAL Ly T 400 (LTSL REMEES) -
(¢r)  Qpéab Qaugiod T 10,000

(@) BoyrlG0 g T 1,000 (10rgh @amiss)

() @soral Qegsdu wHsga Qsaeayser T 6,000

(@) umeoLw sbuagdd 15% smssflssiu’ L Csopa FHéE
ubisefiGSprT.  wHmL  SeumerLw  wseraiub  ACH
umisefiienu Gaw pe Hl&E siefladpm.

(@) SumES wHW 2 ey LIGWNS BraT @améeE < 100 eisb 250
BIL&(@h&E pheoswu <6 ® 2015 - 166 Asr@ésriuLg.
(o) SumEE QsThss @aCuilssrer & Leambd T 6,000-g

Pyaad Qegisgfpg:

22. Mr. B owns a house properly at Cochin, It consists of
3 independent equal units and information about the property is

given below:
Unit 1 : Own residence Unit 2 : Let out Unit 3 : Own business
| T

MRV g X 1,20,000 p.a.
FRV ‘ ] 1,32,000 p.a.
Standard Rent 1,08,000 p.a.
Rent © 3,500 p.m.
Unrealised rent for three months
Repairs : ’ 10,000
Insurance 2,000.
Interest on money borrowed . \ 96’,0'00
for purchase of property ' :
Municipal Taxes . 14,400
Date of cOmpleﬁon 1.11.1998

Compute income from house property.

6 60511/BYAS5C

16.

17.

18.

Mr.Akil, an employee of Govt. of India is drawing a salary of

T 10,000 including D.A of ¥ 1,000 p.m. From the very beginning
he was getting entertainment allowance, and last year his E.A.

was doubled. At present he is drawing I 700 p.m. as
Entertainment Allowance. The other perquisites are of T 1,000

p.m. He was getting uniform allowance @ ¥ 3,000 twice a year.
It was claimed that whole of it has been spent on uniform. He

received T 10,000 as bonus during the year. Calculate his
taxable salary.

Em. sifled eremueu @ QHHL pHe angﬁ]mnaﬁ, Sigeilenaiiig
wrgh @amse < 1,000 ol uL sbuerors T 10,000 Quydpm.
< TbLID WHC® eui Caafldmals Lig QuHHS Qsreirg SEDTT WHHILD
sLps an® GCseflsms ug @riglurssiulLg. SHsowb
Garfléanal Lig. rsb geansd X 700 Qupms Qsramg.BEAnT. @y
Cuargmuiisedr wrsb @amég I 1,000 @b, el -Emeaw
ugurs T 3,000 yawr®sE @ wan Quhms Q&ne&ﬁtq.@é;é;]gjnfr_.
Poa  @asosund  EroLsstsCal Qewe; QelwdLLL TS
CempuulL g @bs ey <jeur T 10,000 Gurerev-24s Qubpi.

SleumaLL FDLIETSSHDETa cuflanwid Samss Hs.

Explain the different types of Rental Values.

armees willikbar LdGeain eumasamar edleu.

Compute the annual rental value for the previous year 2015-16
from particulars given below:

T
Municipal Rental Value 170,000
Fair Rental Value 82,000
Standard Rent 75,000
Real Rent 8,0b0 p.m.
Unrealised Rent 5,000
Date of Completion 31.06.2015
Date of letting 1.9.2015
3 60511/BYA5C



19.

&Cp Qar@asiu’ Qédrar  gaaudsalldi@mhg  WHosU 6@

2015-16&amen 2,erT(H) UL a0 OELIHLIS STENTS.

T
B&ETTLS UL ang LS| 70,000
Blwmuorer eurtens WAL : 82,000
Hlepeowimes aumL_eng 75,000
2 GITEDLOWITEN GUTL 60 8,000 LDTSLD @@r@uﬁ@
QAsrHuLTg euTL_ane 5,000
s (Homerd (pigbs Cad 31.06.2015
aumLen&é@ edlLiul’ L Gl 1.9.2015

Following particulars are furnished by ‘a private company

.relating to the plant and machinery (15% Block) for the year

ending on 315t March 2016: ‘

T
WDYV as on 1.4.2015 (Rate of Depreciation 15%) 4,00,000

Additions made during the year on 1.7.2015 . 60,000
During the year an item of machinery was sold for Rs. 20,000.

The WDV of this item on 1.4.2015 was Rs. 11,000. The cost of
this item Rs. 16,000. a

Compute the depreciation and WDV.

EPEETEID  FHEUDSET FeteumLd WwHMD @ubdyd CAgriiumer

sseucaener (15% LgH) wrig 31, 2016 apiyeiledr AsrTREsliu’_HerarTi.
T

1.4.2015 amempw @.@s.w. (Coliorar eigb 15%)  4,00,000

1.7.2015 oyempy ConQsrenr_ gahge Gaaeser 60,000
&L_55 amiqe @upSyd T 20,0006 éﬁrj)&ﬁlul'_l_g.
1.4.2AOlS <iem @.0F.w. T 11,000. @ser oiLss elevar T 16,000.
Cainrend whmib Gmnhs Q& LAY ELuDODE STarTs.
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20.

21.

SECTION C — (3 x 10 =-30 marks)
Answer any THREE questions.
Explain any twenty exempted incomes u/s 10.
&7531 10-an S1p euflellvsg Qupp eupomard gCseanb Qmuams eflaul.

From the following information, compute the taxable income
under the head ‘salaries’ of Shri. Ram who is working as a driver
in a transport company.

(a) Salary ¥ 8,000 p.m.
(b) Arrears of salary T 4,000.
© D.A: T 2,000 p.m.

(d) Employer is paying insurance premium of T 16,000 p.a. on
Ram’s life. ' :

(e) -Bonus' received ¥ 15,000.

() Education allowance for grandchild ¥ 400 p.m.
(g) Cash gift T 10,000.

(h) City compensatory allowance ¥ 1,000 p.m.

(1) Medical expenses paid by employer f‘ 6,000.

() He contributes 15% of his salary to a recognized provident
fund and his employer contributes the same.

(k) He is given lunch allowance @ ¥ 100 per day far 250 days
during the previous year 2015-16.

() He is provided with a mobile, bill of which’s paid by
company < 6,000.

Epssnamid sseudsallalmbg CursEaurss Fneuasde gl Hamnns

vesfluyflyd  wlrmd  eraueufien  eumraspaner euflenw  gbuer

s lern S srems. ‘

(1) ebuenbd T 8,000 (wreb anésE)

(<) sbuemd Bayemeu T 4,000

(®) <saflemert uy T 2,000 (LTS @ETNI&EE)

(w) grpelien e st G OABlwwors T 16,000 e
apgerafl eqsgiflpmi
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